
ASBA Seat Frame Mounting Hardware
(16"-24" Wide) (Before 7/5/05)



ASBA Seat Frame Mounting Hardware
(16"-24" Wide) (Before 7/5/05)

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1116983-NLA NLA - Screw, Hex Head w/ Patch (5/16-18 x 1-1/2") 1 41
1039860 Screw, Hex Head w/ Patch  (5/16-18 x 3/4") 1 82
1079247 Washer, Flat (21/64 x 53/64 x 7/64") 1 43

1113228-NLA NLA - Plate, Low Seat-To-Floor Mounting, Rear -
Right

1 14 A
1113229-NLA NLA - Plate, Low Seat-To-Floor Mounting, Rear -

Left
1 14 A

1115850-NLA NLA - Plate, Medium Seat-To-Floor Mounting -
Right

1 14 B
1115851-NLA NLA - Plate, Medium Seat-To-Floor Mounting - Left 1 14 B
1115852-NLA NLA - Plate, High Seat-To-Floor Mounting - Right 1 14 C
1115853-NLA NLA - Plate, High Seat-To-Floor Mounting - Left 1 14 C

1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 45
1026158 Locknut (5/16-18) 1 46

1113341-NLA NLA - Nut, Strap 1 27
1061922-NLA NLA - Screw, Hex Head w/ Patch (5/16-18 x 1/2") 1 48
1113114-NLA NLA - Bracket, Upper Seat, Front, Black 1 29
1113230-NLA NLA - Bracket, Lower Seat, Front, Black 1 210

A - 17" Seat-To-Floor @ 5 degree tilt  
B - 19" Seat-To-Floor @ 5 degree tilt. No longer available as a service part individually. See category Titled "Frames - Seat 

ADJASBA Mtg. Hdwr. (16" - 24" W) Med S-T-F (After 7/4/05)" and order part #1133758 as a replacement.  
C - 21" Seat-To-Floor @ 5 degree tilt. No longer available as a service part individually. See category titled "Frames - Seat 

ADJASBA Mtg. Hdwr. (16" - 24" W) High S-T-F (After 7/4/05)" and order part #1133757 as a replacement.  

NOTE:

 


